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At | E A | BEERE(n=31) | XfREEE(n=24) | p Ml | A | BEERE(m=31) *THREE(n=24)| p BE | s | R m=31) tRREm=23)] p
[A] [#iR T [ 1.90 (0.55) | 2.14 (0.44) [A] |%i@m F [ 1.87 (0.51) | 2.27 (0.53) [** [A] |##TF | 1.96 (0.59)  2.30 (0.51) [*
P | 132 (0.27) | 1.37 (0.25) iz 1.32 (0.32)  1.49 (0.33) wEiih | 1.37(032) | 1.57 (0.29) [*
17 127 (0.32) | 125 (0.29) 15 1.28 (0.38)  1.29 (0.32) 177 | 126 (0.37)  1.26 (0.30)
3% 1.33 (0.33) ‘ 1.33 (0.29) 3% 1.35 (0.41)  1.46 (0.35) 345 1.37 (0.39)  1.53 (0.33)
55 1.33 (0.30) ‘ 1.33 (0.27) 55 134 (0.36)  1.48 (0.35) 55 1.39 (0.37) | 1.57 (0.32)
75 1.32 (0.26) | 1.38 (0.25) 75 1.31(0.33)  1.48 (0.33) | 753 1.37 (0.30)  1.58 (0.29) [*
9%y 1.32 (0.26) | 1.40 (0.26) 9%y 131 (030)  1.50(0.32) [* 9%y 135 (0.31)  1.57 (0.28) |*
(=] {8248 1.65 (0.54) | 1.84 (0.41) [B15 A 1.56 (0.55) =~ 1.86 (0.48) |* [ 15 §EA 1.65 (0.55)  1.90 (0.48)
15 1.52 (0.47) | 1.67 (0.34) 17 146 (0.47) 177 (0.44) |* 15 1.54 (0.48)  1.83 (0.37) |*
3% 1.61 (0.51) | 1.81 (0.42) 35 1.52 (0.52)  1.80 (0.47) |* 3% 1.62 (0.52)  1.87 (0.50)
5453 1.68 (0.57) | 1.86 (0.46) 55 1.58 (0.60) = 1.87 (0.55) 55 1.68 (0.60)  1.89 (0.55)
7% 1.70 (0.62) | 1.89 (0.47) 75 1.58 (0.61)  1.88 (0.55) | 753 1.67 (0.62)  1.89 (0.59)
9% 1.76 (0.59) | 1.96 (0.44) 95 1.64 (0.63)  1.96 (0.50) [* 953 1.74 (0.63) = 2.01 (0.51)
[B] [|#i#E T 1.39 (0.45) | 1.44 (0.32) [B] |&filE T 1.21 (0.34) 1.32 (0.29) [B] [#i T 1.27 (0.38) | 1.39 (0.28)
i | 1.06 (0.23) | 1.03 (0.16) i | 0.98 (0.20) | 1.03 (0.15) #ih | 1.03(0.23) 109 (0.15)
17 1.01 (0.26) | 0.96 (0.15) 14 | 095 (0.20)  0.95 (0.16) 15 0.97 (0.23)  0.97 (0.17)
35 1.04 (0.25) | 1.00 (0.18) 37 | 0.97 (0.21) 1.00 (0.17) 35 1.02 (0.24) | 1.06 (0.17)
5% 1.05 (0.24) | 1.00 (0.17) 545 0.97 (0.20)  1.00 (0.16) 5% 1.03 (0.23)  1.08 (0.16)
7453 1.05 (0.23) | 1.03 (0.18) 753 0.98 (0.20)  1.02 (0.15) 753 1.03 (0.22)  1.07 (0.15)
9% 1.07 (0.24) | 1.05 (0.16) 9%y 0.99 (0.20)  1.06 (0.15) 953 1.04 (0.24) 1.12 (0.15)
m{EH0 [ 1.29 (0.41) | 1.30 (0.26) m{EH | 1.10 (0.31) 1.21 (0.22) Mg | 117 (0.34) 1.27 (0.24)
14 1.22 (0.34) | 1.27 (0.21) 157 1.07 (0.26) | 1.23 (0.20) [* 1% 1.15 (0.32)  1.31 (0.19) [*
35 1.27 (0.38) | 1.31 (0.27) 35 1.08 (0.27)  1.21 (0.23) 35 1.17 (0.30)  1.28 (0.26)
55 1.30 (0.44) | 1.30 (0.29) 55 1.11 (0.33)  1.21 (0.24) S 1.18 (0.37) 127 (0.27)
757 1.33 (0.48) | 1.31(0.29) 75 1.11 (0.37)  1.21 (0.27) 75 1.18 (0.39) | 1.25 (0.29)
9% 1.35 (0.47) | 1.32(0.31) 943 1.13 (0.36)  1.22 (0.24) I 95> 1.19 (0.37)  1.26 (0.28)
581 |[HE T | 1.39(023) | 1.51(0.22) a1 |EETF | 1.55(0.26) | 1.73 (0.30) [* fERC1 | ®iIRTF | 1.55(0.26) | 1.68 (0.31) |
Bt | 127 (017) | 1.33 (0.13) ZiEH | 1.35(0.18) 1.44 (0.23) | =i | 1.33(0.17) | 1.44 (0.17) [*
EEH [ 1.28 (0.16) | 1.42 (0.20) [** m{g8H [ 139 (0.21)  1.53 (0.26) [* | | {939 | 1.39 (0.18) 149 (0.21)
el 2 [%iETF | 2.69(095) | 3.24 (0.91) |* fE82 [FiE T | 295 (L.00)  4.00(1.47) [** | [{5%2 | %R K| 3.10 (1.17)  3.95(1.37) [*
i 1.69 (0.44) | 1.84 (0.46) | e G 1.81 (0.60) = 2.20 (0.84) [* 2hih | 1.84 (0.57)  2.30 (0.65) |**
EI{EH | 2.15(0.82) | 2.65(0.88) |* ElfEHl | 225(1.01)  292(129) |* | | E{EH | 2.35(0.96) 2.89 (1.08)
el [#ETF | 3.89(1.90) | 5.00 (1.97) |* a4k 3 m.ﬁ'ﬁ 4.76 (2.14) | 7.28 (4.00) [** | |f5%3 [ #ilR T [ 5.03 (248)  6.98 (3.49) [*
=i 2.19 (0.82) | 2.49(0.83) | IR G 2.51 (1.10) | 3.36 (1.98) [* i | 251 (1.04) | 3.41 (1.35) |**
ml{EHE | 2.83 (1.35) | 3.89 (1.87) |* Iﬁliﬁﬁ;ﬁ 3.31 (1.84) 4.76 (3.25) [* BER [ 3.39 (1.69) | 4.49 (2.28) |*
fE¥k 4 |HET | 1.91(0.49) | 2.19 (0.44) |* fef 4 Wi N | 212 (0.53) | 2.62 (0.68) [** | [fE%c4 | Wil T | 2.17 (0.59)  2.56 (0.66) |*
i | 146 (0.27) 156 0.26) | iR 1.55 (0.34) | 1.77 (0.47) |* R | 1.55 (0.32)  1.81 (0.35) [**
Mg | 1.64 (039) | 1.93 (0.44) |* [l{EH | 1.74 (0.52) | 2.10 (0.62) |* m{F30 | 1.78 (0.47)  2.06 (0.51) |*
685 [HE R 1.48 (0.22) | 1.59 (0.20) fafh s [#i\F | 1.61(0.25) | 1.81(0.30) [* fefs | iR R | 1.62(0.26) 1.76 (0.30)
B | 132(017) | 1.37(0.13) | A | 1.39(0.18) 149 (0.23) | Bt | 138 (0.17) | 1.49 (0.17) |*
[|] {8 18 1.36 (0.16) | 1.49 (0.20) |* [8]{52 1A 1.45 (0.22)  1.59 (0.26) |* miEH | 1.45 (0.20)  1.55 (0.21)
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